10.

11.

12.

MATHEMATICAL REASONING

The inverse of the statement (p A ~q) —> r is-
1 v g—>"r @2 (pArg—>"r
B (pvag—>r (4) None of these
("p v "q) is logically equivalent to-
Dpag 2 p—>a @p—>"q@
The equivalent statement of (p < q) is-
DpParagdvipeva 2 p—>avia—p
@ Cpvavievad @Cpvasrlpv a
If the compound statement p — ("p Vv q) is false

P> q

then the truth value of p and q are respectively-

T, T @TF @ FET @ FEF

The statement (p = "p) A ("p — p) is-

(1) a tautology

(2)

(3) neither a tautology nor a contradiction

)

Negation of the statement (p A 1) — (r v q) is-
@ (Cpv
@DeA)A(CrA g

pAllanlpvag A

a contradiction
None of these
“(rva) vi(rva
B pAarAalrag

The dual of the statement
is-

1

1) An—>

) pviavipvagv 1
@pviavipa q)vr]
@) pviaviargyv
@ pvianPargna
Which of the following is correct-
MCpv a=pPArq
@pP—>a9=Ca—> "
B > ad=pPA a
@ P ad=pP—>9vi@—>p
The contrapositive of p — (Tq —
M (Cann—>"p 2 @—=>1n—>"p

Tr) is-

Bav Hn->"p (4) None of these
The converse of p — (@ — 1) is-

M@A " 1)vp @ (qvrnvp
@ annAp @ @A Ap

If p and q are two statement then (p <> ~q) is true

when-

(1) p and q both are true (2) p and q both are false
(3) p is false and q is true (4) None of these
Statement (p A q) — p is-

(2) a contradiction

(4) None of these

(1) a tautology
(3) neither (1) nor (2)
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14.

15.

16.

17.

18.

19.

20.

21.

22.

If statements p, q, r have truth values T, F, T
respectively then which of the following statement

is true-
Dp—>aAr @pP-o>q v r
B Argvigar @p—>q—>r

If statement p — (q Vv 1) is true then the truth values
of statements p, g, r respectively-

IOTFET 2 F T F

3 F F F (4) All of these

Which of the following statement is a contradiction-
D PAradAaleva) @pv(ipnra
BpP—>a—>p @ pv.q

The negative of the statement "If a number is
divisible by 15 then it is divisible by 5 or 3"

(1) If a number is divisible by 15 then it is not divisible
by 5 and 3

(2) A number is divisible by 15 and it is not divisible
by 5 or 3

(3) A number is divisible by 15 or it is not divisible
by 5 and 3

(4) A number is divisible by 15 and it is not divisible
by 5 and 3

Which of the following is a statement-

(1) Open the door

(2) Do your home work

(3) Hurrah! we have won the match

(4) Two plus two is five

The negation of the statement "2 + 3 = 5 and

8 < 10" is-

12+3#5and 8 « 102 2+3#50r8>10

3)2+3#50r8>10 (4) None of these

For any three simple statement p, q, r the statement

(0 A g V(g A ) is true when-

(1) p and r true and q is false

(2) p and r false and q is true

3

(

4) q and r true and p is false

p, q, r all are false

)
)
)
)

Which of the following statement is a tautology-

MCpv a@dvleyv 9 @C(pv galpv q
B pAal(Cpv 9 @ qa(pv 9
Which of the following statement is a contradiction-
M(pv @dvipyv @ @pP—>advpPAr 9
B (praala @(prav(a

The negation of the statement q v (p A 1) is
equivalent to-
1) anp—r 2 Tan (po)

B "aar(CpAar (4) None of these



23.

24.

25.

26.

27.

28.

29.

Which of the following is not a statement-

(1) every set is a finite set

(2) every square is a rectangle

(3) The sun is a star

(4) Shut the window

The statement "(p > q) < ((p Vv ~q) is-

(1) a tautology

(2) a contradiction

(3) neither a tautology nor a contradiction

(4) None of these

Which of the following is equivalent to (p A q)
Mp—->"q 2 (CpnA 9

3 "p—> 9 (4) None of these
The dual of the following statement "Reena is
healthy and Meena is beautiful" is-

(1) Reena is beaufiful and Meena is healthy

()
®)
4)

If p is any statement, t and c are a tautology and a

Reena is beautiful or Meena is healthy
Reena is healthy or Meena is beutiful

None of these

contradiction respectively then which of the

following is not correct-
Mpat=p @pnc=c
Bpvt=c @pvec=p

If S*(p, q) is the dual of the compound statement

S(p, q) then S*("p,
(1) S("p, "a) (2) "S(p, 9
(3) “S*(p, a) (4) None of these

Which of the following is a statement-

~q) is equivalent to-

(1) T am Lion

(2) Logic is an interesting subject

(3) A triangle is a circle and 10 is a prime number
4)

4) None of these

30.

31.

32.

33.

34.

35.

If p is any statement, t is a tautology and c is a
contradiction then which fo the following is not
correct-

Mpa(d=p

@pv(t=p

B)tvec=pvt

4)

If p, q, r are simple statement with truth values

pArtfvipvao=(tacd

T, F, T respectively then the truth value of
(CpvaA1)>pis-
(1) True

(3) True if r is false

(2) False
(4) True if q is true
Which of the following is wrong-

(1) p v "p is a tautology

2) "("p) © p is a tautology

(3) p A "p is a contradiction

@) ((p A p) > @ — p is a tautology

The statement "If 22 = 5 then I get first class" is
logically equivalent to-

(1) 22= 5 and I donot get first class
(2) 22 = 5 or I do not get first class
(3) 22 = 5 or I get first class

(4) None of these

If statement (p v 1) = (q A 1) is false and statement

q is true then statement p is-

(1) true (2) false

(3) may be true or false (4) None of these

Which of the following statement are not logically
equivalent-

(1) (v gand ((pAqg (2) (p—>qand(pA q
B pP—>qand("qg—> p@@pP-—>qgand(pAaqg
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Que. |1 2 3 4 5 6 7 8 10 11 12 13 14 15
Ans. |3 3 4 2 2 2 1 1 3 1 4 4 1
Que. |16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
Ans. |4 4 3 4 1 3 1 4 3 3 3 3 2 3 4
Que. |31 32 33 34 35

Ans.
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